Section-1

GROUP - "B"

1. Fer a cantilever beam with uniformly vanving bead, shape of bending moment curve 15
a. parabolic b. hyperbobic . straight lme d. cubic.

2_For 1st order bever, mechanical advantages i
a<l b.>1 e =] d. mone

3. The negative resistance charactenstic is exhabited by
a.Dhode b Tnode c. Tetrode d. Pentode

4. Thermal efficiency of IC engmes will be
g 20-23% b, 30-33% €, 50-T3% d 43-55%.

5. When a mass is supported by a spong of constant k, which is cut in 4 equal pieces and connected m parallel way, the equovalent
SPINE constant is

ayk/d b} 16k <) 64k d) 0.4k

6. DMass production of bolts and nvetsis by
a_ hot extnosion b. forging c. cold heading 4 cold peening

-

Blercury dossn't stick to glass tube becauss
a. cohesive forceradhesive force b .cohesive forcecadhesive force
. cehesive force= adhesve force d. none of the above

2. Euler's forrmula is used for cobummn of length
a. >80 b. =B0 e =0 d =110

2. If a body weaghmg 40 kg floats m water with 40% of volume mmmersed, the sp. gravity of the bodv s
a.l b.016 c 023 d. none

10, If center distance of an mvolutes matmng gear changes then the pressure angls
a. increasas b, decreases ¢ remaine unaltered d nesther of them

11. Neommabsangis
a. heated above crtical temp and cooled im aix
b_heated above crtical terap and guenched in o
. heated below entical temp and cooled in air
d. none of these.

12, The best sauted matenal for permanent magnet is
a. Almice b silicon C. COpper d. mnild steel

13, Hooke's joint is used for
2. parallel and mtersectmg shafis b. non-parallel non-mtersecting
c. non-parallel and mtersecting d. parallel and non-ntersecting

14, Which of the following is a loose numning fit?
a. hifs b. hfed ¢ hifds d. none of these

15, Specific speed n 2 turbo machine depends on
a. peometnic shape  bosize o head 4 all of these

16. Unit of surface roughness is
2. micron b. PPAL ¢, mumlt d meter

17. Mohs's circle 15 used to find
a. principle stress b. resultant of ANS c principal strain d. none

18, Which one m the following has less carbon content?
a.tool steel b, sprmgsteel ¢ carbumsmg steel d. forging steel

1%. Spheroidising is a process of
a. annealing b. normalising . tempering d. caze hardening

20, What type of thread 15 used m lead screw of 2 lathe
2. acme thread bV cosquare d. buttress

21. Wear allowance of a go noge end plug gawge is given for
a. go end b. nogo end . baoth d. nones

22. Heming bone gears are used when it is required that a'an
2. axial thnest is transmitted b radial thngst is tranemndtted
. torgue i transrritted. d Wone of the above

23, Inball bearngs, cage 15 used to
a. mamtain the ball pestion b)) mamtain paralelsm between mner and cuker race

c. both d. none
24, Distance of czone layer from surface of carth
a. 0to 100 kan b. 20%e 30 kkm e 30w l00km d10tel3km
23, An elevator i moving up with an acceleration of 4.9 m/'sec? with a body weighing 135 kgis attached with spong balance. What
is the vahue in the sping balance?
a 10 b. 15 e 20 d. 30

26, At same heat mput and max pressure
a. efficiency of Otto cvcle 1s more than diesel b efficiency of dual cyele is more than diesel
c. efficiency of diesel cycle i more than Otto d. all the abawve

27, Bending stress is (if v 15 the distance from the newtral axis)
a. mversely proportonalto v b, proportional to v
¢, independent of ¥ d. none of the above

28. Which of the fallowing is 3 wyong staternent?
a_ Plaster of Pans is mads fram dolomate, bausite and lrmestone.
b. Highest temperature is represented by red colour.
. In ball beanng, grease lubncation acts as boundary layer lubncation.
d. Dhesel is abways the miost efficient fuel for automcbiles.

29, Fahrenheit and centigrade are equal at
a. 40 b.O .32 d4 100

30, hlelting pomt of ice changes with

a. mereass with pressure b. increase with pressure ratio ¢, Both  d. none



